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Highest power of a number in a factorial:
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|24. What_can be the maximum value of p so
ths an integer?
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125 Find the maximum value of P such thd

Qi\"':’-'\, is an integer.
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126, If 6¥ is a factor of 90!, what is the maximum

0] 0 ‘ possible value of k?
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127. I i‘;‘,’j is an integral value, then find the
maximum value that x can have.
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128. If 82! is exactly divisible b.hen n cannot
be greater than:
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129.If 100! is a multiple of 24", then the

maximum possible value of r is:
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I20. Find the total no of zeroes after the right

|0 = 5X2- most non-zero digit in 100!.
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I3l Find the total no of zeroes after the right most
non-zero digit in 120!
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132. Numbers 2, 4, 6, 8, 10,............... 396, 398, 400
YUREXEXLOK .. .. X3I8XUYUD  are multiplied together. The number of

| zeroes jat the end of the product on the right
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133, Let(n_be an integer)such that n! ends with

—

50 zeroes. What is the maximum possible
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value of n?
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I%4. The number 25%* x 6425 is the square of a
2 6‘1 25 natural number n. The sum of digits of n is
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1%5. Find the zeros at end of (126! — 125!)
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